Efficiency vs P,

0.5

a E :
O RISELEERRELE Bresnnnnesdin
> E H
B0 - EEEEETETCE CECLTEIELELE Brenneneensd
(< o :
8] F .
EO'35:_ """"""""""" AR
) E :
0.3F - doreioeeeens LR RIS
0.25E - + ---------------- LA SRt
0.2F -4l fromen N TP
0.152? S FRUTRERLE L (LREICTIRtS
0.1 T SUTRE Beeeeeis R SRTREITTES
TSN o &F TSR, ST AU OO
0.055—+ o -"’*++++t
_QLUG: MR Ly .! LA T |
T E : ]
@ 1+ + - b AREEEREEEEEN
0.95F TH+ ST

=
o@
N

1 10 . Gedf’

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_mod-127
—+— DQM_TT__mkFit-DQM_mod_updatedmod-127

= 0.2
o E i
SOABEr o e
2 F : : : : :
ISR S S S A
o E : : : : :
L B B Sl [ S
@ : : : :
0.12F - :
0.1
0.08
0.06)
0.04
0.02

—
o

Ratio

- e
4
4
- e
+
> 3
&
+
e
.
e

4




	Contents
	Page 1


